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O&=J Xtz 40,000 =20 x12& 960

02 332494l 12,070 13,840 N1,770
OodIIe=2 750,000 x12& 9,000
Osde3 70,000& =12& 840
O&dter 22 50,000& x12& 600
O&EIIEAANE 130,000& x13] 130
o272 =24l 300,000& 53] 1,500

301 dEtEX = 33,750 33,750 0

09 SHALAHIXI &2 4,950 4,950 0

OFUXNXN/AY F2AEs S FAB4

50,000& 25 13| 1,250
OXNSENEAS 1,500,000& 13| 1,500
O#HAIZH &N 1,000,000& x13] 1,000
OFUXNXAI &A= 1,200,000& 13| 1,200

12 JIEtE &2 28,800 28,800 0
Omz ]y 2AxE 100, 000& *6 Il x483 28,800

sXg2 29 25,536 0 25,536

201 2yt 2 Y| 18,830 0 18,830

01 AFR2t2l Yl 2,955 0 2,955
O8I iz 53,900& x20 x12& 1,294
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OJIEt A2 (HEAEE S) 25,000& x12& 300

02 352494l 15,875 0 15,875
OdIIe=2 7,000
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01 M= 4l 1,000 1,000 0
OLZ¥ 2l ML (88l &) 1,000
SHA A 13,840 13,720 120
101 @124 dl 9,176 9,056 120
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201 et 1,800 1,800 0
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OS0 FoAHOMAIRE I =2
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OSo ZHOMA SRS 29
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MEXE Es2el 33,212 31,872 1,340
=0 1,600 1,600 0
302 Ol THoH E & = 1,600 1,600 0
02 QIZHITHOH R EFESE L= 1,600 1,600 0
OMSTSEE D20l SAH|
8,000& 100 *23| 1,600
TR 24 &2 31,612 30,272 1,340
101 @14 Hl 31,612 30,272 1,340
04 DIt Z2XRHEE S 31,612 30,272 1,340
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= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O=2 T =24¥ EHlI](50km)
69,8003 x5 «50H 17,450
Oz2& ¥ s0HEEZZ EHII ALY
69,8003 x5 x23H 8,027
Ot MR X2+ 69,8003 159 53] 5,235
O MHEEZE 900
olEs 249 2,400 2,400 0
QA=A 2,400 2,400 0
201 Let24dy] 2,400 2,400 0
01 At 22l 2,400 2,400 0
OolAa2H 2,400
— DREHEH(UILSE) 200,000& *43| 800
—QRoE ARE Y 300,000& =23l 600
— AnEa4dl 250,000 *43| 1,000
NAAM2ZEAN 29 8,450 7,460 990
NEASEEEAN 24 8,450 7,460 990
201 LB-2E| 8,150 7,260 890
01 At 2t 2l 4,400 3,560 840
OXNIASEHEAM2 S 4,400
— gAY 70,0003 12L& «53| 4,200
—AREF 7Y 100, 000& *23| 200
02 =224l 3,750 3,700 50
OXEE=RX & X2l 3,750
—S8= 700,000& x13] 700
RSl 1,360& x154 =125 2,550
— X&E2l Al 125,000& *43| 500
202 o4dl 300 200 100
01 = LH o4 1l 300 200 100
OXYGASIEZE AN g2 =& 300
BHSAAY (MNS) 69,560 60,786 8,774
el 2 9,410 7,200 2,210
ol 2| 9,410 7,200 2,210
101 1Al 9,410 7,200 2,210
03 RIAHAZZ2TE = 9,410 7,200 2,210
ORJIHAZZX BEE= 8,250
—1E2E 275,000 »12& 3,300
—&HEE 412,500 123 4,950
OgZ0lst& 1=l 400,000& »x2H 800
O3RAZ2E X &0 20,0002 »3H x6 360
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A - ER(EN) - AR - B of & o4 SSa HIDZ2
23l 60,150 53,586 6,564

Jl=23dHl 60,150 53,586 6,564
201 B2 S 20,270 18,506 1,764
01 At 22l bl 20,270 18,506 1,764

O=AILRZ 660,000& =123 7,920
O3=+Jl gxt&g 69,800 x12& 838
omggl EH 72¢ 150,000& 63! 900
OANEE 4A2F 2¢ 125,000& 122 1,500
O=AEX 22,900 *108t A 123 2,748
odz & JIEMHE 2,400
—MEF=EE 2 TAFLH 600,000 42 2,400
Oge=Fd 82 =43t 50,000& 102 500
OREE $IsSE M= 120,000& 63l 720
OLAHI(H, F=HHE) 60,0003 x9L 540
OxEsEHl 8,000& x14H x12& 1,344
OMNRY & UHSHHE &z 22
30,0003 *12& 360
OAml2 HIS =4Hl 125,000 *43] 500
202 044l 28,560 23,760 4,800
01 SLHOYI 3,360 2,160 1,200
fFA2E UM 20,0002 x14H 128 3,360
02 A0l 25,200 21,600 3,600
OFAo0dtl 150,000 x14E «12& 25,200
203 2R =AY 11,320 11,320 0
01 J1Z2gg 2= 7,000 7,000 0
OJ22LGR=TH(HE) 7,000
02 HRAIMAE R F=AH| 720 720 0
OZ 2t 2| 40,000 x18¥H 720
04 FANE2EE AL 3,600 3,600 0
ORN2EERFAH 300,000& ~12& 3,600




